A SAMAGRA SHIKSHA - KERALA E 1006 - Phy
SECOND TERMINALEVALUATION 2019-20

PHY She=¥

Sanmdard: X Time = 1% Hour
Total Score : 410

Instructions 4
© o+ First 15 minutes is given & cool ofTtime, This time is to be spent for reading and
understanding the questions, .
* Answer the questions based on instructions.
*  Answer the questions according (o score and time

Answer any mﬂ,ﬂqlnﬂ.m from 1 1o 5 Each question carries 1 score. 4xl=4)

17 Find MCB and Walt hour meler from the following?

A ; B c D

© 2y What is the voltage of electricity generated for power transmission in India?
(230V,  LI00Y, 110KV, 11kV)
3} Find out the number of images seen if the two plane mimors are arranged at an angle of
1200,
Il &= ]
4] The figuse given below shows a ry of light passing through two differeat media. Cheose
the correct image from the following?

Pigture 2 ! Pichure 3 Plemre 4
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5} Which of the following piciure is correet according to Fleming's right-hand rule?

Dlneﬂanqi-cnm-nl Maition of tha conductor
Motien of the
conducior Magnedic fiakd

—E —T,

Magntic fiald A Direction of curment B
Mation of tha conductor Direction of current
Direction of current Magnatic Feld
— ttem %
Magnatic fald C Motion of the conducior 3

Answer any FOUR questions from 6 to 1. Each question carrbes 2 score. 4x1=8§)

&) Fill in part a,b,c.and d of the table given below most suitably,

Kituations Mirror used | Use of the mirror

For the object placed between Comenve mirror|  Shaving misror
pringipal foous and pole, the images
formesd are enlasged and ercet.

Mirrer Converges distant rays to (a) (b}
Image is always formed in between (eh (dy 4x¥=2)

the focus and the pole of the mirmor

73 Analyse the figure and answer to the following questions based on the new Cartesian sign
cotvention? A (1+1)

C F -T 8
40 cm [

a)  Write the mirror equation,
b} A lange, virtual and erect image is formed by the mimor, Caleulae the distance from |

pole 10 the image.
8}  Elecirical shock is a dangerous hazard. Wrile any four precautions to be taken to avoid
electrical shack while handling elecirical appliance. {2)
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91 Match the following suitabily. (1+1)

1 Temal internal reflection Convex mimor

2 Rear view mimor Endoscope

Coneave mirmor

10y Answer the follwing questions about the incandescent lamps.

a)  What is the reason for filling of an inert gasinitrogen in an incandescent lamp?

b1 Write any two properties of Tungsten that make it suitable for being used as a filament?
Answer any FOUR questions from 11 to 15. Each question carries 3 score. (4 x 3=12)

117 Anlyse the circuits and answer the following questions. (1+2)

Soll iron core

Cirenit - 1 Cireuit - 2
ab A student saied that magnetis field s developed around the solenoid in the second cireuit
enly. Explain vour opinion about the statement.
by Inwhich circuit, a continuous emf produced, Name this phenemenon and explain.
12) Theee resisters ane given. There values are of 202, I and 601,
) Find out fhe maximum resistance that can be made with all these three in a circuits,

b} Ilustrate bow to setup a circuit with 4,503, elfective resistance using all three given

resistances (241, 30, 642) (1=2]
13} The following figure represents o permaneat magnet ard an clectromagnet. (1+2)
Saft |rn|1 core Turns of insulated coppes

o i e

a)  Find out the polurity of the electromagnet at A,

By Write any two differences between a permarncnt Inchdant ray
magnet-and an elecine magnet.

14

The dingram represents an incident ray falling on a plane koL,
a)  Find the incident angle using the given diagram,
By Swmte the laws of reflection. (1+2)
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15} Analyse the following table and write answer to the questions.

Medinm Speed of light (mis)
Viguumy Air 3% 10 mis

Waler 225 x 10F mis

Gilass 2 % 10° m/s {npproximately)

a)  Find out the medium which has highest aptical density from the table.
b} Calculate the refiustive index of glass with water,
e} What is ahsolute refractive index of a medium, (14141)

Answer uny FOUR questions from 16 i 20, Esch question carries 4 score. (4 x 4= 16)

I6) Ohserve the figures.

18

il

h)

€]

-

a)  Identify the devices P, () and write it's name.
by Write down the difference in function of split rings in thess devices.
o} Write the working principles of each of these devices, [1+2+1)

A transformer having no power loss has SO00 turms in its primary. The cursent in the primary
coil and seeondary coil are 0,14 and 10A respectively.

u}  Which type of transformer is this? (Step up Step down)

by Caleulate the wuﬁndm voltage if the applied voltoge in the primary is 11004,

¢y Caleulate the output power of this transformer, (14241
The following dingram represents the image formation in a concave mirror, {use Mew
Cartesian Sign Conventions to solve the problems).

Write the object distance (u) and the image

distonee (v). !r :

Define magnification in mirmors? Find out T &
thee mugnification {m).

Calenlate the height of the image in the

figure, It the height of the ohject is 4.5 cm. (1+2+1)
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197 The path of light through different media is shown in the following figure Analyse Ihmﬁ ond
answer the following questions.

a)  Find out critical angle of glass
b} Which figure represenis the total infernal reflection?
©)  Explain how total intemnal reflection takes place in glass by referving the above figures,

{1+1+2)
20} Three students are doing the same experiment by using the following sets of solenoids and
‘magnets, (maymets are identical, and the solencids are wound in elockwise direetion with
the same type of wire).
S0 twrns 1M turms S0 furns
m— ——t —
Experiment 1 Experiment 2 Experiment

a)  Why the galvanometer needle deflects while the magnel moves lowards the salenoid?

b} Among the experiments [, 2 and 3 identify the solenoids which produce the snme
direetion of deflection when the magnet is moved towands the coil,

¢} Write any two methods 10 increase the induced emfin the solenoid, (1+1+2)
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